: of multxphcatlon is shown by the equation 14+ y ¢ 1 = 14)’ ?

C. Commutative
D. Multiplicative Identity

A, Associative
B. Multiplicative Property of Zero

4. What are the next three terms in the sequence 3, 6,9, 12, ...?

S A

5. What are the next three terms in the sequence 2.0, 3.5, 5.0, 6.5,

o, 1.~ , 1L.O

6. What is the next term in the pattern 0.4, 0.8, 1.2, 1.6, ...?

O
7. What is the value of the expression 3(2 — 7)? :
oY ] A X
A S
8. Use the distributive property to simplify the following: —3(x + 10)
L L (-3)¢ sz 30

9. Simplify 7y + 15 — 7y - 8.
@
10. Simplify x + 6 — 3x — 8.

|- 2% ~Z}

(12 +5)+GBx = 7).




L 1 Simplify -2??3),
Lo

AN
18. What is the value of 11 + 3(9 — 6) — 42

e =) -2 -4 = 1o+ - 8

19. Simplify 2x + 1 —x + 2.

K3

20. What is the value of 6a + 2b ifa=1 and b= 27
e ol
(e 2(2) = @/’

21. What is the value of 12d — 7c if d=2 and ¢ = 3?

) 0z) ZH e @

|

i

A 4
22. Evaluate ?r ifr=9ands=2.

C. Commutative



